
Nazaret preIB Test 4 November 16, 2017

Imię i nazwisko:
Klasa:
Grupa 1
Wynik:

Question 1 (1 pt)

After simplifying the expression
(4x2 − 4x+ 1)(x3 − 8)

(4x2 − 1)(x− 2)
becomes:

A.
(x2 − 4)2

2x+ 1
B.

(2x− 1)(x2 − 4)
2x+ 1

C.
(2x− 1)(x2 + x+ 1)

2x+ 1
D.

(2x− 1)(x+ 1)2

2x+ 1

Question 2 (1 pt)
Solve:

3× 212x = 213x+ 211

A. x = 1
2 B. x = 2 C. x = 211 D. x = 212

Question 3 (1 pt)√√5− 1 +
√√

5 + 1
2 =

A. 6 B. 2
√

5 C. 2
√

5 + 2 D. 2
√

5 + 4

Question 4 (1 pt)√
17− 12

√
2 =

A. 2
√

2− 3 B. 3− 2
√

2 C.
√

2− 3 D. 3−
√

2

Question 5 (1 pt)
The following expression

(160.5 ÷ 2−3)0.2 × (160.75 ÷ (0.25)−2)−2

(32−1 × (0.125)−4)0.5

is equal to:

A.
1
2

B.

√
2

2
C.
√

2 D. 2
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Question 6 (2 pts)
Solve: √

x2 − 6x+ 9 = 5

Question 7 (3 pts)
Solve:

(2x− 1)2 − (3x+ 1)(x− 2) = (x+ 4)2
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Question 8 (3 pts)
Prove that 712 − 612 is divisible by 13.

Question 9 (3 pts)
Calculate (

√
2 +
√

3 +
√

5)2. Hence find
√

10 +
√

24 +
√

40 +
√

60.
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Question 10 (4 pts)
Solve the inequality

(x− 2)3 − (2x− 1)3 > (x2 − 1)(2− 7x) + (2x+ 1)2

Write down a rational number that satisfies the inequality and an irrational
number that does not satisfy the inequality.

Extra question
Calculate

3
√

6
√

3 + 10−
√

3


